Efficiency vs dr

efficiency vs AR

Ratio

1.2
1+
0.8
0.6
0.4
0.2
G 1 1NN 1 M
—s— DQM_V0001_R000000001__Global__mkFit_baseline
1.5f--| —— DQM_V0001_R000000001__Global__mkFit_var
: —— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean
N R | N 'I I N H B
U= - S IAPES 2 11111 JIE". Y B2 P
107 = o
TP min AR

[ Efficiency vs dr (track,jet) |

efficiency vs AR(TP, jet

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.

1.

0

il

5

-1

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

Ratio

&

o
©
a1

o
©
(@)

iy

L L LA

2 4 6 8 10 12 14 16 18 20
Pileup



	Contents
	Page 1


